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ErA. Sax. 1 |&
S mp espress.
P \
EbA. Sax. 2
o i ——
. P —
By T. Sax.
== oy =
_—
Eb B. Sax.
mp espress.
POND AT MONTGERON (Claude Monet)
Allarg. Andante cantabile (» = 56)
Bb Tpt. 1
0y
B> Tpt. 2,3
. Al )
FHn. 1,2 [& =
Y o e
9
FHn.3
mp h |
z
Ton. 1,2 [EE
mp
Bs. Tbn.
np
Bar./ _ _ _ _ Cucmibecl Cuco s
Euph. 1,2 [EE f -
mp —_— »
Tuba
Z Ed =
mp —_—
pizz.
Str. Bs. [g
mp
Timp.
mp [
Py 1 2
erc
&
Perc. 2
Perc. 3
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164
“ Pt EEe >
. ©
9 =
Ob. I
Bsn.
X a3 >
o = ,
E» Cl. (opt) |t
v [~ —=
9 —
B> Cl.1
o
9 ,
BClL2 e
- ' espress. —
9
B Cl. 3
v p espress | F 4 A
EbA.Cl. Ot ==m=
(opt.) G e S— —— —
Bb Bs. Cl.
4+ < < 7
SaE AT S ~—7
4 -
EbA. Sax. 1 F
o = o =
o — ; P —
EbA. Sax. 2
v — pespress '
9 , ; =
B T. Sax. F
~ == pespress 14 = —
94 , ,
Eb B. Sax.
CA = ~— '
pespress
164
9
BTpt 1 [&
B> Tpt. 2,3
9 ,
FHn. 1,2 [&
v p espress. — — >
FHn.3 :
n.
© e 4 ~ ~—_ "~
Tbn. 1,2
Bs. Tbn.
Bar. / Play, All_~
Euph. 1,2
pespress.
CucB s Cuc low woodins
Tuba
wp o = pom i
Str. Bs. [g L
pespress
Timp.
Py 1 2
erc.
&
Perc. 2
Perc. 3
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All

b i > Solo
Fl ﬁ%ﬁ £z P —
) o
mf |p dolce
Al Solo
4
S et ==
wf pdolce
—_ = =~ _
Bsn.
¥ 7z =2
mpm—————  p  mfsub P
Eb Cl. (opt.)
== =
div. »
| ‘ -
BhCl. 1 =fe=
p| mfsub
4 T t
B»Cl.2
5 f F F
| mfsub. P
9 — 4 4 4
BHCl. 3
v S = =
—_———mp | mfsub. P
—
EbA. Cl. : _
(opt) T~ = — = | nfs B
B Bs. Cl. ==
= = G TG A &2 = =
P f‘r T P
—
1/ ﬁ
EbA. Sax. 1 |
o ———mp mfsub.
\ — P ——
B> A Sax. 2 |72 %\
=
P = —_—p mfsub.
= =
BbT. Sax.
P —_— nf —
)y — —_ — _ _ _
B B.Sax. |&
S == == ¥
P —_—mp ——p mfub ?
Bb Tpt. 1
4
By Tpt. 2,3 l§/
| | Al | c— | A ; e HY
FHn. 1,2 == ;
y * i ~—T
= — | = » =
FHn.3 J J ; =
t
S —
_——w _ »
—
be P
Tbn. 1,2
mf
Bs. Tbn.
Bar./ e Fe¥a —
Euph. 1,2
» JE—— I
Play
— — —
Tuba
=
» p——mp
Str. Bs.
Timp.
Perc. 1 /
erc.
&
Perc. 2
Perc. 3
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188 Allarg. A tempo (J
9
Fl.
©
9
Ob.
o)
One player
Bsn.
94
Eb Cl. (opt.)
9
ByCl.1
SES Z
P
9
ByCl.2
R =
—_— =
9
B> CL. 3
v = =
EbA.CL L
(opt.) o 2 =
c @E , ,
Bb Bs. Cl.
== SRt 3
Solo P —
p, Fieeseefs, 7 e N %
EbA. Sax. 1
G =
plolce ——=| ————— o
) One player
EbA. Sax. 2
f f
P
One player
9
By T. Sax. E
o t t P
P
One player
94 e _
E» B. Sax. l
G
z At (
Atempo (4
188 Allarg. —
—
Bb Tpt. 1
pespress
cup mute
B> Tpt. 2,3
pespress [ r
FHn.1,2
o
9
FHn.3
o
cup mute | ‘
Ton. 1,2 [EE
pespress
cup mute
Bs. Tbn.
pespress
Bar./ Cuem B cL
Euph. 1,2
r
Cuc B B, L. One layer
Tuba
” —
Str. Bs.
Timp.
Perc. 1
Perc. 2
Perc. 3
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WES T e 2 —Ee

£ -
Fl.
G
mp espress.
All o o )
Ob.
=—=
mp espress
Al
Bsn.
~——
mp espress.
e .
Eb Cl. (opt.) —
= f 4
mp espress =
F— be S
B>Cl.1 =2
mp espress.
9 \ — S
B Cl.2
“ 2
mp espress
4 — S —
By CL3 I
G Sam| 7 t t 7
mp espress.
EsA. Cl. 04 e ~
(opt.) CEai = f
mp espress
9
By Bs. Cl.
o =
~—
mp espress.
5s A/R P E N c— Yy
EbA. Sax. 1
mp espress.
pa Al ) o R
EbA. Sax. 2
G === =
mp espress
Al
By T. Sax.
G f t
mp espress.
gy Al \
EB.Sax. |&
- ~
mp espress.
2 -
Bb Tpt. 1 F
o :
/ |
B> Tpt. 2,3
o =
) =T Al
FHn.1,2
o t t # =
mpeprese ||
9
FHn.3 —
- R
mp espress
Al A
z ﬁﬂﬁﬁ
Ton. 1,2 =
Bs. Tbn.
Play
Bar./ L & - >
Euph. 1,2
mp espress.
Play, All )
Tuba
El E3 E]
3 3 3 7 3
mp espress —
Str. Bs.
~
mp espress.
Timp.
perc. 1 gﬂ\ Glockenspicl be
erc
5 =SS
G i
Perc. 2
Perc. 3

HERMITAGE - 22




DANCE II (Henri Matisse)

215 [221] Attarg. Allegro (/= 112)
9
Fl.
©
~
Ob.
~
Bsn.,
~
B> CL. (opt) %
B>Cl.1
P— =
~ _— —
~
By Cl.2 £
— = |1
N ~
B>CL 3
G <7 El =
» —|pp
EbA.Cl. ys =
(opt.) o P P
BbBs. Cl.
© S El = %
p—_—————
. ~
EbA. Sax. 1
np —
" , , o]
EbA. Sax. 2
— =
0 L L ol
BT Sax. & 1Z
Y ' '
4 — o) =) \ =
Eb B. Sax.
o 5 =
np — Fleggiero
DANCE II (Henri Matisse)
215 Allarg. Allegro (- =112)
N cupmute
B Tpt. 1
w | —
cup mute | A
By Tpt. 2,3 ——2
——
~
FHn. 1,2
Gi
np
N ~
FHn.3
. 1. cup mute
———
Tbn. 1,2 12
» E—
~ — — —F
Bs. Tbn.
t =
fleggiero
Bar./ ‘ —
Euph. 1,2 - = =
. l@ One player Two players . ) [ —
uba
= = i é U v 2 ST
mp T p————
— ==
Str. Bs. =
mp —_— p———
Timp.
9
Perc. 1
o
~
Perc. 2
Small Triangle
|
Perc. 3 1
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F4

230
9
Fl.
G
Ob.
z 7 £ el E3
Bsn. %
Sleggiero
E> Cl.
B Cl.
—
By Cl.
Fleggiero ==
9 —
B>Cl. 3
“ Fleggiero ==
EbA. Cl. g \ I — e | —
(opt.) o > . = =3 E3
Sleggiero
— — — ==
Bb Bs. Cl.
5 G = t 7 7 == S -
0s — L — == P’
EbA. Sax. 1
~ Sleggiero ' ==
0y — L — == E
EbA. Sax. 2
> Sleggiero = ' =
9 = — —= ==
By T. Sax.
o g | = t 7 7 == e === Pt
- 0y N ~ — —_—
b B. Sax.
i =E = ; ‘
230
Bb Tpt. 1
All open
—
B> Tpt. 2,3
Sleggiero ==
— \ — \ \ | Al
FHn. 1,2 =
v fleggiero = !
FHn3 =
n.
© Sleggiero = ~ '
All open . Dl d o e 4100
Tbn. 1,2 -
Sleggiero !
A M~ — —
Bs. Tbn.
t = = & t
Bar./ i - P e £
Euph. 1,2 ===
Sleggiero
| | — N T e T
Tuba
hd Edd a3 ERAEERE] EEE] 3 hd
k [~ —
Str. Bs.
= S|
Timp.
Perc. 1
Perc. 2
Perc. 3
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- — . | [
) £ s e fEeeipeff E efe e irer Se £
i £ = e
& ‘mp sub.
T A
o 3 = S, — —= =
==Lt == mpsi =
~ Ve =
Bsn.
mp "
Y — — ==
E) Cl. (opt.) —=
~ P
8 Cl. 1 === == =
===
mp sub
—
ByCl.2
== == mp s =T
c =" =
B> Cl. 3
= < 2 3 3
mp sub. ~
EbA.Cl 0
(opt.) v = = =1 ' mp sub. - ~
B Bs. Cl. E:
U 39 9 F33 ElEE] mp sub. -
~ P & D)
EbA. Sax. 1
. e &
EbA. Sax. 2
=
B T. S: z
b T 8
ax % — == =
) 5 _
Eb B. Sax.
‘ - = i mp sub.
252
~ P
B> Tpt. 1
P & === ==
~— = =
B> Tpt. 2,3 =
= =
L — — A i
FHn 1,2 (&5 —~
& = = SR === mp sub. B
0
FHn.3
& b = —
P J, d ez, 2
Tbn. 1,2
—
Bs. Tbn. =
== = —=
Bar./ seefz = =t
Euph. 1,2
mp
Tuba
=
i F
Str. Bs.
Timp.
4
S
Perc. 1
S.D. (snares of)
Perc. 2
leggiero
Perc. 3
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254 ~ ~ e
. , FEFer freee fre.f & e, ﬁrﬁifﬁﬁ
' v nf 7
Ob. ==
==
S
£ rr-2lse !
Bsn.
f nf
Eb Cl
f
-
B Cl.
S
B Cl. \
S nf
B Cl. 5
S nf
EbA.Cl é“
(opt.) v = — = = = E=
m S mf
By Bs. Cl.
Ca E Eaa] e = 5 E
nf _ nf
1/ V™
EbA. Sax. 1 |
N nf G nf
" ==
EbA. Sax. 2
Ci =t = e B EEE e e =
nf S mf
) — L N Z === = |===
B T.Sax. |&
Ui = == ===
mp f S mf
s " = o j— -
Eb B. Sax.
i ==
mf' S f
254
0 T = e *
Bb Tpt. 1
=
nf S/
All . A‘H X |
B> Tpt. 2,3
= j—— T
54 All
All . 1 | . 2 All
FHn. 1,2 =
= ~ == i f i ==
f s n
I , —_—— e |
FHn.3
= - i
f
£ r3
Tbn. 1,2
mf
Bs. Tbn.
nf
Bar./ ——h N S ~ e
Euph. 1,2 = ===
nf
One player Al | |
Tuba =
= = EEE =
mp nf
Str. Bs. [g
nf
Timp.
Perc. 1
Perc. 2
Suspended Cymbal
Perc. 3
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2
265 — —
. 5 e ire. £EOE £ r. . fFrre
. G
9
Ob.
o =
Bsn.
e f 2
—_—
s Frr. ~ .
Eb Cl. (opt.)
5 4
— —
By Cl. 1
G = =
" wp
9 == — —_— I
ByCl.2
G = =
g —= ~
By Cl. 3 e
o = £l
p
EbA.Cl s
(opt.) D — = 4 =1t =
p
9
B Bs.Cl. |&
) E: = = S— 3 El
—f —_— w
" i~ Vs SRS e e
EbA. Sax. 1
= 7
p
" Y S -
EbA. Sax. 2
= =17 = 2
— | i4
e 35S P
By T. Sax.
5 i
o
Eb B. Sax.
& 3 : : ?
—_—
265
straight mute
9
Bb Tpt. 1
o —
B> Tpt. 2,3
4 s (R,
FHn.1,2 |F
o= t =
i
9 ,
FHn.3 I.E
ot =
i : . J ) LA
Tbn. 1,2
—_— |
b
Bs. Tbn.
== t — t 7
—_—
Bar./ —r =
Euph. 1,2 —=
All
Tuba
- El ;»% = =
mp
Str. Bs. =
e f
mp
Timp.
3
5
Perc. 1
Perc. 2
Perc. 3

HERMITAGE - 27

CARRYING THE CROSS (Titian)

277 Molto meno mosso ( = 56)
. ) - = % »
| o
mp 2
) - = »
Ob.
Bsn.
Eb Cl. (opt.)
B>Cl.1
B:Cl.2
B>CL. 3 =
e = E
o
E>A. Cl. Gz -
(opt.) o Ej
[
4
Bb Bs. Cl.
E] 7 Z 3
S S
p
g4
EbA. Sax. 1 F
fs
EbA. Sax. 2
Gi
Bb T. Sax.
1/
EvB.Sax. |&
B
CARRYING THE CROSS (Titian)
277 Molto meno mosso (+ = 56)
g —
By Tpt. 1 F
o= = v
2
9
By Tpt. 2,3 F
4
FHn.1,2
4
FHn.3 l@
Gi
Ton. 1,2
Bs. Tbn.
Bar./
Euph. 1, 2 ; i
23
sim
Tuba -
== El S
2
Str. Bs.
i
2
Timp.
Field drum 1 (snares of) - backstage
Perc. 1
» ’
»
S.D. (snares off - stand infront of the
- i
Perc. 2 =
i g r =
mf
Field drum 2 (snares off) - stand in front of the stage, to the i
o i
Perc. 3 =
¥ v 7 =l
nf
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